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JIYY 3 nann Jon

ANV NY IMN2 WRNWwnY PR

(.77 DMWY 10 MSRYA HI) MIRIN YRV YW TINN (T7a%3) YaIR HY 1Y
AIRYTINA PRV VAN N DNIVRIN NIYRWD MY

pon AMan p»a (g)9 np n 9w d ponn 939 .m0 ToN MYvn aman (g) nn amn ¢ TPRY
(g) Y nypoIA MAMaNA Y3 AR P N3 L (gd) Wi ,d Ton NN

.dY1on 1R (gd) 1. W 77d = d 7700 W AT TR ordgd aton ava (gd) 1IN0
mrIny 7 oATon v Yo L H = (g %) D AR .0 DR PONn d wra ,d Ton nMan nn H oan
H C (g%)

won ,n/ged(n,m) | d "m ,ordh | |H| ovpon .0 < m < n wRa,h = g™ w;h € H w
h=gme{(g)¥ ke Z}=(gi) o .% | m vwn,% | ged(n,m) 1 ,n | ged(n, m)d
H C (gd) pon

[ .1 IR PONNY AToN R0 (g) YO PYN AMIN Y3 MY vawn Y MDY

JANNGA AN = NA = (A, N) <G . A < Gonm N <G onn,nman G onn 12 52XY
a(ANN)—aN 9 A/JANN = AN/N~

AN =geqaaN =Uyea Na=NADPY.a € G 9% aN = Na orpnn,NIG-w 1w 1109
nna ®n (A, N)=w poan e ,G Sv nmannn AN-w monor 199 N;AC NA C (A, N)-w 1
AN = (A, N) wom (A, N) < AN 91pa, A, N nx n»amw G 59 1nva mopn aman

129 . (AN)"' = N"1A71 = NA = AN ,(AN)(AN) = (AA)(NN) = AN ,1 € AN ;o
.G S0 nmannn AN

mnnnn oremmn xn A 6: A — G/N wmxny LN wy oyaon opanmarn m: G — G/N

pn [N < H < Avoxa H/N amxnn npnb »»own opaimpri vavn 19 nmnry]

dAmé ={n(a)| a € A} = {m(a)w(n)|a € A,ne N} = AN/N
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v porIn oramern vavn aY Kerf = {a € A| 7(a) = e} = ANKermr = ANN 1w

i a(ANN) — 0(a) =aN 5 pmn Gann: A/JANN — AN/N orammpr

D4 "5 nyammpr 111120 NN 3 1910 S. v o 13 TERY

o) 2 ZJAZ 135 ,ordo =4 ,ordT =2 w . P = (o,7) 7 = (13) ,0 = (1234) ypo2 17119
Y, %0 =0 € (o) Jm (1) X 7Z/27

Jo = (7’(1) 7(2) 7(3) 7'(4)) = (3214) =o' € (0)

oprn (02 = (13)(2,4) »n (o) Y» 2 3700 PR RN T & (0)w P (o) < Py 1Y
won . (—1)=2nvan Yy Z/4AZ Sy ndvma Z /27 wwory P = ZJAZ } Z./27 135 (o) N (1) =1
P=Dyv

m=1mapwr.n=3wn=11p,n| |STﬁ“| = 2874 =3 R .54 Y0 2-11%°0 MMan 1aon n W
,NPVN 1YY L4 JTIRD DPIWN YWY WS4 %R .2 YV Apm 0nY D1ToN IR 8 pr1a S47a vn
1= 3 195 .07N0 0728 16 200, TN TR, DNIPIVN 1Y YY mbacn viby

1Y NPONMIPR 139, P-5 mimine mankn mw . P 1an nnr L8 7700 MMan 3 prTa 541w 1Y

[ .D4 "5 nyampr 1913 ,8 1700 MMaN 3 prIa S4 2 v Y

DAPONMVIRD T HY NNYI L&) 1YY nvwaw mman nn H, K awam nman G onn 4 5ToNY

Aut(G) 2 Aut(H) x Awt(K)wmon . HNK ={1}7"G=HKv» P (G Yo

Joar Ko pno .a € Aut(G) om0 [(2)10.4 1nY Y9 anonn Yy mvdm vynpd Al N9

.alg € Aut(H) nnroma.alg € Aut(K) 199 .a(K) =K

pNYN P

o L(a) = (alm, alk) 9 ¢ Aut(G) — Aut(H) x Aut(K)

P L (af)|k = alkPBr (af)|lg = alufuy ™ .a,B € Aut(G) v Jor apanmmn ¢ (1)
plaf) = p(a)e(B)

5 Mt rn « 1P mar mpnyn o0 H, K9 a Yo omenen w o(a) = (1,1) or v'an @ (2)
HK =G

a1 a: G — G apnyn v, B € Aut(H) ,v € Aut(K) vy ¢ (3)
.h € H Jk € K ra,a(hk) = B(h)y(k)

,g=hk,h € H ke K prmmxnw g € G 9% :0210 1m0 0r (R)
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,g2 = hokow 99 ,h1,he € H k1,ks € K w 1R .g1,92 € G v :opommmn a ()

19,9192 = hihokika .91 = hiky

a(g192) = B(hah2)y(kik2) = B(h1)B(h2)y(k1)v(k2) =
Bha)y(k1)v(ha)v(k2) = (g1)0(g2)

B(h) € H,v(k) € K-w v .B(h)y(k) =1 mw .a(hk) = 1w 12 h,k v :y'nn a ()
P ynn G,y Yar (B(h) = 1,v(k) = 1 vy ,H, K »ar Y n%omd a1 maxn v 1-9
DhEk=1wmh=1,k=1

1Y ,a(h) = B(h)y(1) = B(h)1 = B(h) wpnn h € H Y% x :p(a) = (8,7) (7
olg = nTma.alg =0

Sy @ v mom (1) oy 1,01 .o € Aut(G) v yan (3) ,(2) () PN

[ | ODIMDR 7Y Y2 L,(3) ,(2),(1) ION

b= 3ea+5ez mn a = 2e1+Tesz 0 .nvw ova {e1, ea, €3} M mwon mYar nnan A nn 5 XY

2p(a) =b"w 99 A Y0 ¢ DPeMMOVIR DYPY AN

Dnrp IR PR LA Y0 by = b,bs, b3 ©02Y by DR a1 = a,az,a3 0O a DR DHYVIY T 1IN
wot mann i =1,2,3 ,9(b;) = a; ,o(a;) =b;"0 P @, : A — A 1 DHPoNmmN
W 09 V191 .id 4 *Y MY 10 ,DMPSTIMMIN YV MTTPN %Y 199 kY YY A Yv D02 Mpnyn 1 o N
OPONNIVIR RIN 1O ) 290

D) ™Y 002 €1 + aes, e, e3 O ,a, 0 € Z 939 ,AR¥INA YMAn Y 05 001 e, e0,6e3 NP
.G RN AT 0012 PINRA VR IR § = 2, = 3 Np1 OR .02 e + aes, ea, e3 + B(e1 + aes)

a, B € Z prIR) 001 €2 + aes, e1, ez + Bea + aes) M 9ap1,e2- €1 P2 TP Npoaa Ym DR
¥ (2199 .o, 3a =4 v ,af + 1 = 57,8 = 3 mnpnr,b R0 AT 0031 PAINRD TDRIY
Y € Z 935,001 ey + aez + ’7(63 + Be2 + 0463)),61, es + B(e2 + aez) 1001 v R MV TIY
opnnY PAr L, b=y v o xnw 1 L (1 + Gy)es + (o + v + afy)es R0 AT D012 PYRIN TDRA
SB=1l,a=1,y=2%9mmm.b=a+v+afy=3a+vym,0y=2,m»,1+0y=3

| LDMMPNN RINND IR

A7=T-1111onnmnnnw 154 = 2711 970n 77130 9250 1,0 (R) 6 TN

.154 7700 MN2N ,OPANMDR T TY 000 (3)

P, »nm G 59 p-110 mman 1aon n,mapoa p = 2, 7,11 Mmay .2-7- 11 3700 G oan () 1909

mpp =1 1 ,nu]% =2-7Tonny;p =1 (mod 11) ;190 Yw »whwn vawnn »a% jan NNR
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PN P =1 0w o700 P, Py pvd .2 n9%w) H = PrPip <G 1Y P <G-o ron
viIox .H = P; x Pip [13.10 9] aryna Ym0y 7111 — 1o pvay r L H = Pyy X Pr b
JH| =779 .H2Z/T7 x Z)11Z =2 Z.)TTZ

JHNPy=11p%,0moton Py, H YaR .HP, < G 199.H <G ovprn, (G : N) = 2-w o (2)
G=HXP, 9, |P|-|H =2-77= |G| 1onwn G Sownmannn . HP, = H X P, 199
;P S0 wvn z o p: Py — Aut(H) opemmmin o 9y papr 77w ovn n%eony G Yw niann
D oTon Pr, Pr-o e (¢(1) = 1) €2 = L ovpnn e := () oy pman ¢ P = {1, 2}
Aut(H) — Aut(Pr) x Aut(Pr1) oranmor w0 [(3)10.4 nnY] nryIna vavn ra , H = Py x Pj1"
Aalp,)?=1,(alp,)?>=1orpnor a? =1 ovpnn;a — (alp,, alp,) ™9

PN DPAMMVIRG AT ;A AT P 5y pman 2 1Ton B opammoR 0% v L7 IToN YR Py nya
B(h) = h ©»pnn .2 3700 AP AMIAN NN AY W PY avn Aut(Z/TZ) = Z/6Z » ,ndw 2 1Ton
h — h™1 > 5 pm v oo 5 Prp Y9 2 9700 PN opammvIRg Y 00 1R ImR1 LA = 1 ox p1 o
h=1oxpnor y(h) =h ovpnm

:e2 = 1w P H Y0 £ npanmor 4 pr1a v 1Y

1,1) ()

E(hi,he) = (R Y ho) ooy pmn e := 2 = (3,1) ()

S (hi,ho) = (hy,hyh) poypmin e i=e3 = (1,7) ()

E(hi,ho) = (At ) oy pmin e :=e4 = (B,7) (D

Jh1 € P hy € P1p qwR1,%(hy, ho) = (b1, he) P pmin e := g1 = (1,

JPINMPR MMIN 122 PRY 195102 WYY .MNan 4 jnu o

orammpry vawn Y R (G 1 N) = 2 pr jar .2 op1orn G v nTa nan nna v H 7w 19 v
w(H:(HNN)) mapo sworaton H v, (H : (HNN))=(NH: N)|(G: N) =2 nwn
H=N 9 H<Nvioa.H=HNN jRom.1 0 1PN 0

, € G~ H orn,cnymamynarrwmmn .C ={h € H h=h} vance G~ H nn
nYY9an no1n YA 135 wen H o, h € H 999 ,h¢ = (W) =hcm d =hlewp h e Hw
c=1Y(z)=¢

mmnw i .C = {1} (1),C = P; 3),C = P11 3),C = H (®) 2% ompnn»ad xn C nys
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